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CHEMISTRY

gme : 756 minutes

Maximum : 90 marks
PART A — (40 marks)

A solution of potassium ferrocyanide would contain the number of ions
2rerhcis 5 DE SaDE TSy edirad’e Hog

(a) 2 by 3

(e} 4 d) b

The coordination number of copper in cuprammonium. sulphate is
Ergitsaraco ﬁéﬁé’ 5556 ok, SosedDh Hopy ehm

(a) 2 (b) 3
(e} 4 (d). 6

The atomic number of copper is 25, its effective atomic number (EAN) in [Cu(NH,),I**
18

SNt S Sowy 26 eacioidS®, [CulNH,), " Hodgdh Thysins’ oo BrToE

S8BT Bog Gdm
(a) 35 (b) 36
© 49 (d) 40

The oxidation number of Pt in [Pt{C,H,)Cl;1 is

[PLC,H, )CL )" & 3 o), esdybes Sopy e
(n) +1 (by +2

(e) +3 (d) - +4
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Which of the following ¢ icals are used to manufacture methylisocyanate that caug
Bhopal tragedy?

(i) Methylamine

(i) Phosgene

(iii) Phosphine

(iv) Dimethylamine

{a) (i) and (ii1) (b) (iii) and (iv)
(e) (i) and (iii) (d) (i) and (ii)

&1 808 TRE° D Bdrdirarg §'ovS B)fLst SED 26 02vpHS &tyEE TETE
(i) wpSIS

() RS

(iii) HHS

(iv) @pdims

(a) (i) SoBasay (jii) (b) (i) Bo8aho (iv)

(e) (i) SoBatbo (iii) (d) (i) SoBdiaw (ii)
6. K,[Al(C,0,),] is called

(a) Potassium aluminium oxalats

(b) Potassium tris (oxalate) aluminate (II1)

(¢) Potassium tris (oxalato) aluminate (IV)

(d) Potassium aluminium (III) oxalate

EG[AIC,0,)5] Son Deodeein?

(a)  2erdghd eermuadhs el

(b)  2rerBoins 135 (estfyeres®) e (TI1)

(¢) 2oLl B30 (ejers®) earmids (IV)

(d)  2erddhss eargodchs (I11) eSS
7. Which of the following elements is poisonous to living systems even in small doses?

- &4 808 D Baredin £°8 BokosTi &5 003 DR riEHs

(a) P T (b) Hg

(e} Zn (d) Na
8.  Of the following eomplexes, the one optically active

& (508 05" 08 Sy ddirtes?

(a) [Pe(NH,;) (NH,0H)ClBr] (b) [Colen),]Cl,

(¢) transe-[Co(en),Cl,] {d) [Co(NH,),CL,]
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(a) Ethylmagnesium icdide (b) Sodium alkynide
(¢) Tetra ethyl lead (d) Diethyl zine

&0 (208 D sot0E S50 S0irRE ot BT

(a) wpSHfhcHd edral b) 2EcHD v
() Bprapddd (d) Bapd ok

From which of the following substitutents in the benzene ring will give Grignard re-
agent

51 208 06" b BFESY0 BoddS Soakind® HuiS* AR UL ABYW?

@ C=0 &) -COOR

(¢) -CeN (dy -OR

Poisonsus nature of CO is due to

{a) its neutral nature (b) its complexing ability with blood

(¢) structure of molecule (d) presence of oxygen in it

CO-Go¥), DXT B Bgrsd Dookessm

() T ook, B Heerididon (b) sgmﬁ‘wmmmmaﬁ
(©)  BrgmS GuY, doEn @) o6® ety EORSOE S0

Which of the following is a secondary pollutant?

& 208 6" DB Bgdod exBol? (s'cu:ﬁﬁl 5563

{a) CO . (b) NO
(c) PAN (d) S0:

13. The geometry of Ni(CO) and Ni(PPh,); Cl, are of

(a) Tetrahedral

(b) Tetrahedral and square planar respectively
(c) Square planar

(d) Square planar and tétrahedral respectively
Ni{CO)M S08din Ni(PPh,), Cl, o &wg), isanednr

(a) iﬁé.‘rﬁ:aﬁ:ll
(L) :}IW HabBafan Sl Sobe
(c) Sl Sdoto

(@) o8 S 005 Sty

5 Test No. : 104
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14. The reaction C;Hﬁﬂzﬂptmééjéllwé—vélmeggﬁgép9¥¥':C-9 811.{& is known as
{a} Wurtz reaction ib) Sandmeyer reaction
(e} Gattermann reaction (d) Friedel-Crafts reaction

CgHN.Cl™ + CuCl H—Er CgH;Cl + N + CuCl &3 5 8c05500 HO3S85:7

(a) &b 55 (b) To&loanb i
(@) mebsrs s @ pus-py 55
15. The protein which transports oxygen in the blood stream is
(a) Haemoglobin (b) Myoglobin
(¢) Insulin ~ (d) Albumin
85 Br808" kiS50 Sob @adS bar
@ Sarfes b DEPFOS
© =dynds (d) eeonpd
16. . Beckmann renﬁmg&mﬁnt involves conversion of
(a) Oxime to nitride (b) amine to acid
(¢) nitro group to amine (d) oxime to amide .
BE5S0S PHBiginns® D 5rd)d dotio?
(8) &S m0d pPES (B) IS Bo0d eyt
() PS5 Bood JSH (d)  efydo jood JTED

17. Among the following which one does act as intermediate in Hoffmann

rearrangement?

¢ 208 DG 28 T 205 PIbgrgisas® SdigHm foothiin?

(a) RNCO (b) RCON
(¢) RCONHEr (d) RNC

Test No.: 104 6
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19.

21

(a)
(e}

Chlorination of methane (b}

Nitration of benzene (d)

Methanol from methyl chloride

Ethylene from ethanol

oG8 (Dogs riry) FaSno S EoIrEaEn

(@) RS @y, SEAS (b)
(c) Bodh Bk, Eﬁiﬁ (d)
The correct epimeric pair is

(a) D-Glucose and L-Glucose (b)
(e} D-Glucose and D-Mannose (d)
RBEL® JEEJE 1) rﬁ&:@tﬂ

(&) &-KpS'd 08050 IE-KRE'E (b)

() &-KpE*E Hoddin & -3rS'E ()

236 §2E Hood 2gTS

afrd ok 808

D-Fructose and L-Fructose
D-Glucose and L-Mannose

&-FEE So8ao IE-HHE

&-KpS'E SoBdio IE-5r5'E

Which of the following undergo Diels-Alder reaction?

(a) ‘Thiophen

(b)
(¢) Pyrrole (d)
& 208 306" b8 &8 0gh [8Y; Fomo

(a)  QEAFDHS (®)
© 6 @

Furanis obtained mainly by distillation of
(a) Wood
(c) Pine-wood

(b)
(d)
Boggom B Tt BabB o 2ol B8y

(a) && (b)

@ pSa& @

Furan

Sandal wood
Rose wood

Tolid 55

5'apt
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(a) Chlorination of methane (b)

() Nitration of benzene (d)

oG8 (dogS priry) FaEIno S G IrEnin

Methanol from methyl chloride
Ethylene from ethanol

(a) HoDS Bk, S'BIAS ®) 2P EE Mol 2gTrd
() BodS Bwk, PBRS @ ags wod 2508
10, ‘The correct epimeric pair is

(a) D-Glucose and L-Glucose (b) D-Fructosze and L-Fruclose
(e} D-Glucose and D-Mannose (d) D-Glucose and L-Mannose
SBEH IHWY e KSYD
(8) &-KpE'E 28 IS-HREE ) &-F5E Sbain XE-PEE
() &-KpE*E Hobain & -3rS'E @) A&-KrS'E 28din I5-5r5'E

20. Which of the following undergo Dicls-Alder reaction?
(a) ‘Thiophen (b) Furan
(¢} Pyrrole (d) Pyridine
%4 208 06" D8 &) wgh OB TowH
(a)  JAFPS ®) e
() P6'S (d) PO&S

21, Furanis obtained mainly by distillation of
(a) Wood (b) Sandal wood
()  Pine-wood (d) Rose wood
Sooggore B fgtid BaHE® Hyoe Srols By
(a) &b () TosdHE
© poas @ &'EE

A .
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96. Proteing when heated with Cone. HNO: gives a yellow colour is

(a)

Oxidizing test (b)

Xanthoproteic test

(¢) Hoppe's test (d) Acid base test
2rdiSen s ds o’ DaABaim Sy S Sorw

(a) edyEte (b) mobi@udahs 585
(@) Ty () esxs 05

F;‘J_ Which of the following has maximum number of "H-NMR spectral linea?

¢ 208 D06 Bl 2y "H-NMR Scloraroiio?

(a)
(c)

11, 2-Tribromoethane (b) 1, 1-Dibromoethane

Ethylbromide (d) 1,1,2,2 Tetrabromoethane

28. Inareaction 2A + B = A,B, the reactant A will disappears

()

at half the rate at that B will decrease

(b) atthe same rate at that B will decrease
(¢) _atthe same rate at that A,B will form

(d) attwice the rate at that B will decrease

2 (50 3% 24 4B - ABE A Eaireisso Fe dod dijor 385 Fotid

(a).

(b)
()

(d)

B 6i506* Srond
ﬁwm

B 6550t Bo&508

rﬂﬂ' The rate of a substance reacts depends on
(a) Atomicweight (b) Equivalent weight

(c)

Molecular weight (d) Active mass

D R By Sorgditan B eorEtdo -

(n) SESrco g (b) Booyrrdin

(3]

e griEn (d gw%og:ﬁﬂw

) Test No, : 104
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The hydrolysis of ethylacetate, ester + H,O = acid + aleohol is a reaction of

{a) FPirst order (b} Second order
(¢) Third order (d) Zeroorder
26 ohiS o sihno Auy), Eiroius?
(a) &5 garodo (b) Seddy oo
(6) Bydan Fareso (d) g ESroto

31. Conversion of molecules of A to B follows a second order kinetics. Doubling 1t
concentration A will increase rate of formation of B by a factor of
P A Dos BIrfs f5ddd Eiro¥ Ko TN, A s oD I, BaY
Bew I Bew DEKS?
(a) 2 (b) 4
c) 12 (d) 1/4

32.  Velocity constant of a reaction at 200 K was found to be 3.2 x 1077, At 300 K it will
bo
290 K3 o8 0355 3K porossn 3.2 x 107 455", 300 K 34 ovd dasdob dotios:?
(a) 1.28x10% (b) 9.6 x107
(¢) 6.4x10° (d) 3.2x10*

33, m order reaction has specific rate constant of 2 min-! . The half life of the mnctia:i

(a) 1.653 min (b) 0.347 min
(¢) 2.0min (d) 0.0347 min
25 6 (Sro¥ (903505 975 Sogi Borotian 2 26%5 PN sansS' o sgang
davdot? .
(a) 1.653n (b} 0.34’?_ by
(© 203 (@) 0.08472

34. Which of the following is not state function?
€1 SoB 06" 28 o Fhoao E?
(a) dG (b) dS
(c) dH (d) dgq
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g5, Which of the following is not an intensive property?

(a) Internal energy (b) Temperature
{¢) Surface tension (d) Viecosity

s 2ol 08" D8 KD o 7

(a) ool e (b) A

(€) ®EHS Bgs (d) om0

l&s, For isothermal expansion of an ideal gas, which of the following is not true?

o 8184 0% AR TE SB0E" s B0B RS Do T

(a) AE =0 by ¢g=0
(¢) AV =0 d W=0
a7. What is the criteria for spontaneity?
B BOBLEE Ko Shretod?
(a) TdS=édgq (b) TdS> dgq
() TdS<dg (d) dF=0
38. Which of the following 15 true lor network aone?
DEBSH Baptith e 208 6" DO 2eHA?
(a) —AA is+ve (b) (W, +PAV) is +ve
() W, is+ve (d) -AF is+ve
%39.  Which of the fﬁ]lc.rwil:lg is true for the phases in equilibrium?
g S HER U6 B0 TRd" D8 duo?
(a) dFﬂ i"-'ﬂ‘.FB (b) llfl'-.l'ill,qI }:EEFH
() dFy =dFy (d) dF, <dFy
8V, Which of the {'ﬂ;ﬂuwin_g equations give efficiency of Carnot cycle
s 808 O B o0 s Sodhhn @), o Brooidi?
[.EJ rj' ={T1 _Tﬂ:l.l_FTE1 {b} ’ 1'? H[Tz -T].}';Tﬂ
) n=(T,-T;)T; d) 5n=(Ty-T\T
A 11 Test No. : 104
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43.

44.

45.

46.
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Which of the following has highest radius?

G4 508 TS LS obyBE TyRrEinetin?

(@) Cr* (b) Mn*

(¢) Fe™ (d co”

Which one is not a characteristic property of transition metals?

(a) Diamagnetism (b) Formation of coloured salts
(¢) Formation of complexes (d) Variable oxidation states
Ge 208 2 ePerEds $EH0 S0HYS S FoHol

(a) ESBgEHICBHED (b) BolHedein Doyt

(¢) Hoff ShyUtne doyeran (d)  B8he esdyries pisoey

Which one of the following transition metal exhibits the highest oxidation state?

e BB O 5055 6w ety ofyitn RO HEGOWH?
(a) Pd (b} Qs
(e} Cr (d) Mn

The highest paramagnetism will be shown by the transition metal ion

& 208 TRE" etghY SorahHim,oBBgin BrDod SN 67 wdirs
(a) N} (b) CO*

() Mn?* (d v

Which of the following is not a basic flux?

e 208 08 28 p»ﬁmﬁ 15558 5E07

(a) CaCO, (b) lime

(e) Si0, (d) CaO
Froth floatation process is used for the metallurgy of

{(a) Chloride ores (k) Oxide ores
(e} Sulphide ores (d) Amalgams
D &% Boyitrg PFE 553 HEAH K60 TREK?

(a) Eo& L8 (b) eBy&ah
(&) Henk el (d) ey
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